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Fill the relevant bubble against each question according to curriculum: Candidate Sign.
! |Question Jir A B c D A | B ’ o] | D |
& Calculate the molar mass of CO,
1. 44 28 48 42
LUl CO, % & # " O O O O
B Which branch of chemistry deals with the
methods and instruments for determining the | Physical Inorganic Analytical Nuclear
.2 composition of matter? chemistry chemistry chemistry Chemistry O O O O
=1 &-/r)l”' Lé’} LIZT.{.U»LE,[?JUJ(JL/_( f_[#‘_rd'17 fhiﬂ{\jl_’"t/:' F_..dbf- ‘,,L*-'-(ﬁr(
- T.:_JL?.’_JII;MJ::.UTMUFJ}’LI;LK
Carbon Amalgam of
;. Which of the following is a compound? Oxygen dioxide Air sand and salt O O O O
.{_ff.__-l?‘u'irh‘;/:_ptaiﬁ,u O,f:‘.":r ):;LJTJL:&]:JK I# a;_'l's'.ﬁ’l,-i.:-:;
] What specific name is used for the elements Alkaline earth Transition
4. ofgroup Il A? Alkali metals |metals Noble gases |elements O O O O
] S bt s E Ll Lo LA} E s S | PR
How many blocks are there in the periodic
.5_ table? 3 4 7 8 O O O O
St b E oo
[ Which of the following has greater shielding
6 effect? Li Na!! Kb R O O O O
B SEanl s N FU S e bl
Which of the following elements obeys
m duplet rule? . o, F, H, N, O O O O
Q‘Lf’fdkkJn‘-xﬁ'@l;yiﬂfvu:(a.pﬁaﬁfpﬂ
. ] Hydrogen Dipole
g, The expression 'V o« 7" represents: Boyle's Law |Charles’ Law {bonding moment O O O O
® <A VT |kl Sy w‘GKLLﬁg L ey
Name the state of the resulting solution
9. when the solute is liquid and solvent is solid. | Gas Liquid Solid Plasma O O
N Lo SUF Lnd L ETng et w2 s o U Uik O O
In the given reaction which element is being
. reduced?
10. Zn0+ H, = Zn+ H,0 H, ZnO Zn 0 O O O O
. e (fun(ai LM ufc)é{ldh":i_-J
¥ Calculate the oxidation state of Crin
11. KCnoO, 12 6 3 | O
] SEAFITECr 2 K,Cr0,
Which of the following is a metal? S
12. y] ; & /
. -L,ff.:)'EJ.;,L-J:..Ja;&u: ¢ Ca &
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Total Marks Sections B and C:
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NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2 Attempt any ELEVEN parts. All parts carry equal marks.

(i)

SECTION — B (Marks 33)

Briefly explain the following. Also give one example of each.

(11x3=

33)

(a) Free radical (b) Bio Chemistry (c) Atomic number
(ii) Distinguish between empirical and molecular formula. Also give examples.
(iii) Identify the properties of isotopes of carbon.
(iv) Why an atom is electrically neutral?
(v) How is Bohr's theory different from Rutherford’s atomic theory?
(vi) What is meant by electronegativity? How do electro-negativities change within a group and within a
period in the periodic table?
(vii) Determine the location of O in the periodic table.
(viii)  Make use of the information in 7] to prove that chorine forms an anion.
(ix) Interpret the type of bonding in H,0 molecule.
(x) Describe the following terms briefly. (Any two)
a. Diffusion b. Vapour Pressure C. Evaporation
(xi) Concentrated sulphuric acid is 18: #,50, . Calculate the volume in «»* of this acid required to produce
500cn’ of 0.1 M, H,SO,
(xii) Sketch Daniel cell and label cathode, anode and direction of the flow of electrons.
(xiiiy ~ Categorize wo,and H, as oxidizing agent or reducing agent in the following equation
WO, +3H, - W +3H,0
(xiv)  Arrange the following in order of increasing acidic strength #F, A1, HBr, HCI
(xv) Which element is more metallic Mg or 4/ ? Explain briefly.
SECTION - C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3 a. State Boyle's law. Drive an expression for Boyle's law
b. Describe the formation of Na from fused NaCI
Q.4 a. KcCland MgrF, are two ionic compounds. Discuss the bond formation in each of these, Also draw electron
dot and cross models.
b. What is meant by concentration of a solution? Discuss molarity as a concentration unit.
Q.5 a Why is Methanol (CH,0H)soluble in water but Benzene (C,H,)is not? Explain
b. Describe single, double and triple covalent bonds. Also given one example for each.
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e Qtanion) Lo K S S ek gt nZ S Kb s 20 U L (viii)
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W knd £ tieF - 500em*K0.1 M, H,SO, % em? (2K T U1 S S bnly 18 H,SO, (Concentrated)* (xi)
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Fill the relevant bubble against each question according to curriculum: Candidate Sign.
M | question v A B c D AlB|lc]| o]
Calculate the molar mass of C,,H,,0,,
1. 342 342 244 29
. LI C L0, | me & g O O O O
. Air, Water Air, Oxygen, |Air, Water, Boron, Neon,
2. Choose the list that contains only elements: | Oxygen Brass Fire, Earth Carbon O O O O
B U PES SRS, e e ;;’FrT-JIT.M S Tse Eond Qs |exKaiBann
Which branch of chemistry deals with
substances containing carbon (Except
] carbonates, bicarbonates, oxides and|Physical Organic Analytical Nuclear
3. carbides)? chemistry chemistry chemistry Chemistry O O O O
. JLI{J::):J((Jj_-’!,JKLU’}LJJ}tL.'Jé;u,hr‘;él#L);J[_/_(H‘ ‘y_fd:b -_‘..V(Ji_ft -_P,‘.quf- 'L-"-r/;yff
Tq_tlgy(ilb’ﬁjé.fw&uﬂab’/:fﬁ FoL s
. Number of groups in periodic table are:
4. % 7 8 4 16
?.:_J(,!U;Jug);ucdugdx» O O O O
| Which of the following has the largest
5. atomic radius? Li Na'! K RbBY!
- T‘Ln;i_.Jr_h_/ufi_.f.ﬂ'IF‘u/a.Ja;@ﬂ ! * % ‘ O O O O
. Which of the following elements belongs to
6. group VI A? H! He! Mg cl
8 CO0F c VIl Acs S A# L e s ] ’ = B 0O O O O
B Which of the following elements has a higher
7. tendency to lose electron(s)? Na Cl cl, 0
u S Gl SEI AW D) A2 i e st O O O O
A liquid boils when its vapour pressure
8. becomes equal to: 760cmig 1Pa 101.325kPa | 0.1aim
- e Odmitbrnsl skl Lo O O O O
Identfy from the following the
. heterogeneous mixture containing particles
9. large enough to be seen with the naked eye. | Solution Suspension |Colloid Air O O O O
. 2L g S S uB 2Tz B e Lot | J¥ = sl st
. _u:ﬁ?ngLfrﬂwLﬁcJ}i
Predict all the products of Down'’s cell.
10. Na, CI NaOH , Cl Na, H NaOH
| I O Ve N ’ ) - ‘ O O O O
Calculate the oxidation state of Mwnin
. 11. KMno, +7 =7 +6 -2 O
.lj_{l."-./:}c)e'{i_dél'lﬂ\/ﬂrila_}i'l('ﬂziﬁn'()J
i Identify the halogen with the lowest
12. oxidizing power among the following: F, cl, Br, '8 O O
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Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2  Attempt any ELEVEN parts. All parts carry equal marks.

(i)

SECTION — B (Marks 33)

Briefly explain the following. Also give one example of each

(11 x 3 = 33)

(a) lon (b) Environmental Chemistry (c) Atomic Mass
(ii) Compare compounds and mixtures. Also give examples.
(iii) There are three isotopes of hydrogen. Draw their diagrams.
(iv) Distinguish between ‘shell’ and ‘subshell’.
(v) State periodic law. Also write the names of groups in s block of the periodic table.
(vi) Show the valence shell electronic configuration for the following:
a. Alkali metals b. Nobel gases o Halogens
(vii) Determine the location of Cf,in periodic table.
(viii)  Briefly explain the following terms: (Any two)
a. Melting b. Freezing c. Boiling
(ix) Find the number of electrons in valence shell in the following:
a. Neon b. Helium C. Hydrogen
(x) Calculate the molarity of a solution that contains 40g urea (NH,CONII,)dissolved in 500cm® of solution.
(xi) The atomic number of an element is 20 and mass number is 40 . How many Protons, Neutrons and
Electrons does an atom of this element have?
(xii) Enlist the possible uses of an electrolytic cell.
(xiii)  Find oxidation state of Nitrogen in any two of given compounds:
a. N0, b. HNO, c. No,
(xiv)  Magnesium reacts with steam, but calcium reacts with cold water. Show this diversity in reactivity by
chemical equations.
(xv) Why fluorine has the highest oxidizing power? Explain briefly.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10= 20)
Q.3 a What is meant by evaporation? The water level in an aquarium decreses slowly, even though the tank
doesn’t leak. Interpret
b. Compare the effects of 41,0,and Fe,0, formation on their parent metals. ( 4/ and Fe)
Q.4 a KCland MgF, are two ionic compounds. Discuss the bond formation in each of these, Also draw electron
dot and cross models.
b. Briefly discuss the following types of solutions, also give one example of each:
Solute Solvent
i Solids Liquids
ii. Solids Solids
Q5 What are unsaturated, saturated and supersaturated solutions? Also give their comparison.
Describe the formation of anions in Bromine and Phosphorous ions.
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ot U s00em® (NH,CONH,) g1 Sa0 2 UK ArdF (x)
St st D p e AL 25 1 80 ATV 20,7 LKA L (xi)
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NO, & HNO, - No,
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